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Question Id : 92090627028 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

All over the world the wild fauna has been whittled down steadily and
remorselessly, and many lovely and interesting animals have been so reduced in
numbers that, without protection and help, they can never re-establish themselves. If
they cannot find sanctuary where they can live and breed undisturbed, their numbers
will dwindle until they join the dodo, the quagga. and the great auk on the long st of
extinct creatures.

Of course, in the last decade or so, much has been done for the protection of wild
life: sanctuaries and reserves have been started, and the reintroduction of species into
areas where it had become extinct is taking place. In Canada, for instance, beavers
are now being reintroduced into certain areas by means of aeroplane.

But although much is being done, there 1s still a very great deal to do.
Unfortunately, the majority of useful work in animal preservation has been done
mainly for animals which are of some economic importance to man and there are
many obscure species of no economic importance which, although they are protected
on paper, are in actual fact being allowed to die out because nobody, except a few
interested zoologists, considers them important enough to spend money on.

As mankind increases year by vear, and as he spreads farther over the globe
burning and destroying, it is some small comfort to know that there are certain
private individuals and some institutions who consider that the work of trying to save
and give sanctuary to these harried animals is of some importance. [t is important
for many reasons, but perhaps the best of them is this: man for all his genius, cannot
create a species, nor can he recreate one he has destroyed. So until we consider
animal life to be worthy of the consideration and reverence we bestow upon old books
and pictures and historic monuments, there will always be the animal refugee Living
precarious life on the edge of extermination, dependent for existence on the charity of
a few human beings.

Read the passage and answer the following questions:

Sub questions

Question Number : 1 Question Id : 92090627029 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
What attitude towards wild life does the author think most appropriate?

(1) reverence (2) pity
(3)  sympathy (4) fear



Options :

920906106801. 1
920906106802. 2
920906106803. 3
920906106804. 4

Question Number : 2 Question Id : 92090627030 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following animal species has been saved from extinction?

(1) dodo (2) quagga
(3) auk (4) heaver
Options :

920906106805. 1
920906106806. 2
920906106807. 3
920906106808. 4

Question Number : 3 Question Id : 92090627031 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following would prove most effective in preserving wild life?

(1) Sanctuaries (2) Law against destruction of wild life
(3) More Zoos (4) Allocation of more funds
Options :

920906106809. 1
920906106810. 2
920906106811. 3
920906106812. 4

Question Number : 4 Question Id : 92090627032 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Animals species should be preserved mainly because:

(1) they are lovely creatures.
(2)  they are killed by cruel people.
(3)  zoologist want to study them.

(4) man cannot recreate a species of animals if it be destroyed.

Options :

920906106813. 1
920906106814. 2
920906106815. 3
920906106816. 4

Question Number : 5 Question Id : 92090627033 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Certain species of wild life 1s about to become extinct mainly because:

(1)  they are killed by people callously.
(2)  sanctuaries are not maintained properly.
(3)  people are ignorant.

(4)  they cannot find a sanctuary where they can live and breed undisturbed.

Options :

920906106817. 1
920906106818. 2
920906106819. 3
920906106820. 4

Question Id : 92090627028 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension



All over the world the wild fauna has been whittled down steadily and
remorselessly, and many lovely and interesting animals have been so reduced in
numbers that, without protection and help, they can never re-establish themselves. If
they cannot find sanctuary where they can live and breed undisturbed, their numbers
will dwindle until they join the dodo, the quagga. and the great auk on the long list of
extinct creatures.

Of course, in the last decade or s0, much has been done for the protection of wild
life: sanctuaries and reserves have been started, and the reintroduction of species into
areas where it had become extinet is taking place. In Canada, for instance, beavers
are now being reintroduced into certain areas by means of aeroplane.

But although much i1s being done, there 1s still a very great deal to do.
Unfortunately, the majority of useful work in animal preservation has been done
mainly for animals which are of some economic importance to man and there are
many obscure species of no economic importance which, although they are protected
on paper, are in actual fact being allowed to die out because nobody, except a few
interested zoologists, considers them important enough to spend money on.

As mankind increases year by vear, and as he spreads farther over the globe
burning and destroying, it is some small comfort to know that there are certain
private individuals and some institutions who consider that the work of trying to save
and give sanctuary to these harried animals is of some importance. It is important
for many reasons, but perhaps the best of them is this: man for all his genius, cannot
create a species, nor can he recreate one he has destroyed. So until we consider
animal life to be worthy of the consideration and reverence we bestow upon old books
and pictures and historic monuments, there will always be the animal refugee living
precarious life on the edge of extermination, dependent for existence on the charity of
a few human beings.

Read the passage and answer the following questions:

Sub questions

Question Number : 1 Question Id : 92090627029 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What attitude towards wild life does the author think most appropriate?

(1) reverence (2) pity
(3) sympathy (4) fear
Options :

920906106801. 1
920906106802. 2
920906106803. 3
920906106804. 4



Question Number : 2 Question Id : 92090627030 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following animal species has been saved from extinction?

(1) dodo (2) quagga
(3) auk {(4) beaver
Options :

920906106805. 1
920906106806. 2
920906106807. 3
920906106808. 4

Question Number : 3 Question Id : 92090627031 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following would prove most effective in preserving wild life?

(1) Sanctuaries (2) Law against destruction of wild life
(3) More Zoos (4) Allocation of more funds
Options :

920906106809. 1
920906106810. 2
920906106811. 3
920906106812. 4

Question Number : 4 Question Id : 92090627032 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Animals species should be preserved mainly because:

(1)  they are lovely ereatures.
(2)  they are killed by cruel people.
(3) zoologist want to study them.

(4) man cannot recreate a species of animals if it be destroyed.

Options :
920906106813. 1



920906106814. 2
920906106815. 3
920906106816. 4

Question Number : 5 Question Id : 92090627033 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Certain species of wild life is about to become extinct mainly because:

(1)  they are killed by people callously.

(2)  sanctuaries are not maintained properly.

(3) people are ignorant.

(4)  they cannot find a sanctuary where they can live and breed undisturbed.

Options :

920906106817. 1
920906106818. 2
920906106819. 3
920906106820. 4

Sub-Section Number : 2
Sub-Section Id : 920906869
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 92090627034 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the correct proposition from the options given to make a meaningful
sentence.

The boys equally divided the chocolates themselves.

(1) between

(2) among

(3) with
(4) by
Options :

920906106821. 1
920906106822. 2
920906106823. 3



920906106824. 4

Question Number : 6 Question Id : 92090627034 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the correct proposition from the options given to make a meaningful
sentence.

The boys equally divided the chocolates themselves.

(1) between

(2) among

(3) with
(4) by
Options :

920906106821. 1
920906106822. 2
920906106823. 3
920906106824. 4

Question Number : 7 Question Id : 92090627035 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the correct form from verb to make a meaningful sentence.
Neither of the contestants to win.

(1) is able
(2) was able
(3) were able
(4)  has able

Options :

920906106825. 1
920906106826. 2
920906106827. 3
920906106828. 4

Question Number : 7 Question Id : 92090627035 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Identify the correct form from verb to make a meaningful sentence.
Neither of the contestants to win.

(1) is able
(2) was able
(3) were ahble
(4)  has able

Options :

920906106825. 1
920906106826. 2
920906106827. 3
920906106828. 4

Question Number : 8 Question Id : 92090627036 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Pick out the correctly spelt word:

(1) emberrass (2) embarress
(3 embarass (4) embarrors
Options :

920906106829. 1
920906106830. 2
920906106831. 3
920906106832. 4

Question Number : 8 Question Id : 92090627036 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Pick out the correctly spelt word:

(1) emberrass (2) embarress
(3) embarass (4) embarrors
Options :

920906106829. 1
920906106830. 2
920906106831. 3
920906106832. 4



Question Number : 9 Question Id : 92090627037 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
[dentify the meaning of the underlined idiom from the options given :-

Sunita is an apple of her father’s eve

(1) lovable (2) talkative
(3 uncontrollable (4) hated
Options :

920906106833. 1
920906106834. 2
920906106835. 3
920906106836. 4

Question Number : 9 Question Id : 92090627037 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Identify the meaning of the underlined idiom from the options given :-

Sunita 1s an apple of her father’s eve

(1) lovable (2) talkative
(3) uncontrollable (4) hated
Options :

920906106833. 1
920906106834. 2
920906106835. 3
920906106836. 4

Question Number : 10 Question Id : 92090627038 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Identify the correct form of indirect speech of the following sentence.
He said. “I have been reading since morning.”

(1) He said that he had been reading since morning.
(2)  He said that he has been reading since morning.
(3) He said that he is reading since morning.

(4) He said that he was reading since morning.

Options :

920906106837. 1
920906106838. 2
920906106839. 3
920906106840. 4

Question Number : 10 Question Id : 92090627038 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the correct form of indirect speech of the following sentence.
He said, “I have been reading since morning.”

(1) He said that he had been reading since morning.
(2)  He said that he has been reading since morning.
(3)  He said that he is reading since morning.

(4) He said that he was reading since morning.

Options :

920906106837. 1
920906106838. 2
920906106839. 3
920906106840. 4

Question Number : 11 Question Id : 92090627039 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A triangle can have:

(1) all acute angles (2) two obtuse angles

(3) two right angles (4) one obtuse angle and one right angle



Options :

920906106841. 1
920906106842. 2
920906106843. 3
920906106844. 4

Question Number : 11 Question Id : 92090627039 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A triangle can have:

(1) all acute angles (2) two obtuse angles
(3)  two right angles (4) one obtuse angle and one right angle
Options :

920906106841. 1
920906106842. 2
920906106843. 3
920906106844. 4

Question Number : 12 Question Id : 92090627040 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If the mean of 18, 19, x, 25 and 26 is 21, then find the mean of 5, 11, 13, 19 and (3x-1):

(1) 21 (2) 206
(3) 19.6 (4) 188
Options :

920906106845. 1
920906106846. 2
920906106847. 3
920906106848. 4

Question Number : 12 Question Id : 92090627040 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



If the mean of 18, 19, x, 25 and 26 15 21, then find the mean of 5, 11, 13, 19 and (3x-1):

(1) 21 (2) 20.6
(3) 19.6 (4) 18.8
Options :

920906106845. 1
920906106846. 2
920906106847. 3
920906106848. 4

Question Number : 13 Question Id : 92090627041 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Find a single discount equivalent to successive discounts of 10%, 20% and 25%:

(1) 55% (2) 54%
(d) 46% (4) 52%
Options :

920906106849. 1
920906106850. 2
920906106851. 3
920906106852. 4

Question Number : 13 Question Id : 92090627041 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Find a single discount equivalent to successive discounts of 10%, 20% and 25%:

(1) 55% (2) 54%
(d) 46% (4) 52%
Options :

920906106849. 1
920906106850. 2
920906106851. 3
920906106852. 4

Question Number : 14 Question Id : 92090627042 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

A man is walking at a speed of 6 km/h. After every km he takes rest for 6 minutes.
How much time will he take to cover a distance of 24 km.

(1) 6 h 24 min (2) 6h18 min
(3) 5h 18 min (4) 4 h 24 min
Options :

920906106853 1
920906106854. 2
920906106855. 3
920906106856. 4

Question Number : 14 Question Id : 92090627042 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A man is walking at a speed of 6 km/h. After every km he takes rest for 6 minutes.
How much time will he take to cover a distance of 24 km.

(1) 6 h 24 min (2) 6h 18 min
(3) 5h 18 min (4) 4 h 24 min
Options :

920906106853. 1
920906106854 2
920906106855. 3
920906106856. 4

Question Number : 15 Question Id : 92090627043 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

sind+coséd 17 .
f +— = — . then find the value of (5|n4 8 —cos” E):
sind-cosd 7

12
1 119 ) —
(1) (2) 5
119 2

(3) ﬁ' (4) g

Options :



920906106857. 1
920906106858. 2
920906106859. 3
920906106860. 4

Question Number : 15 Question Id : 92090627043 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

sind+cosf 17 :
SROT PR L then find the value of (sm4 6 - cos* E):
sinf-cosé 7

12

1 119 2) —

(1) () 3

119 2

3 s ) =

(3) 169 (4) 3
Options :

920906106857. 1
920906106858. 2
920906106859. 3
920906106860. 4

Question Number : 16 Question Id : 92090627044 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify which of the given conclusions follows from the given statements:
Statement I : No perfume is a fragrance.
Some perfumes are deodorants.

All deodorants are cologne.

Statement II : . At least some perfumes are colognes.

II. No fragrance is deodorant.
(1) only conclusion I is true
(2) only conclusion II is true
(3) Both conclusion I and II are true

(4) Neither coneclusion I nor 11 is true

Options :



920906106861. 1
920906106862. 2
920906106863. 3
920906106864. 4

Question Number : 16 Question Id : 92090627044 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify which of the given conclusions follows from the given statements:
Statement I : No perfume is a fragrance.
Some perfumes are deodorants.

All deodorants are cologne.

Statement II : I. At least some perfumes are colognes.

II. No fragrance is deodorant.
(1) only conclusion I is true
(2) only conclusion II is true
(3) Both coneclusion I and II are true

(4) Neither conclusion I nor 11 is true

Options :

920906106861. 1
920906106862. 2
920906106863. 3
920906106864. 4

Question Number : 17 Question Id : 92090627045 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Read the following information carefully and answer the question given below:

A is the son of B. C, B's Sister, has a son D and a daughter E. F is the maternal
uncle of D. How 1s E related to F?

(1) Sister (2) Niece
(3) Daughter (4) Wife
Options :

920906106865. 1



920906106866. 2
920906106867. 3
920906106868. 4

Question Number : 17 Question Id : 92090627045 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Read the following information carefully and answer the question given below:

A is the son of B. C, B's Sister, has a son D and a daughter E. F is the maternal
uncle of D. How is E related to F?

(1) Sister (2) Niece
(3) Daughter (4) Wife
Options :

920906106865. 1
920906106866. 2
920906106867. 3
920906106868. 4

Question Number : 18 Question Id : 92090627046 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Figure (x) is embedded in which one of the four alternatives:

Figure (x)

(1) (2)

(3) < (4)

Options :
920906106869. 1




920906106870. 2
920906106871. 3
920906106872. 4

Question Number : 18 Question Id : 92090627046 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Figure (x) 15 embedded in which one of the four alternatives:

Figure (x)

(1) (2)

(3) < (4)

Options :

920906106869. 1
920906106870. 2
920906106871. 3
920906106872. 4

Question Number : 19 Question Id : 92090627047 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the group of letters which is different from others :

POCG, BUDX, ATRG, ZIKL, FQMV

(1) POCG (2) BUDX
(3) FQMV (4) ZIKL
Options :

920906106873. 1
920906106874. 2



920906106875. 3
920906106876. 4

Question Number : 19 Question Id : 92090627047 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the group of letters which is different from others :

POCG, BUDX, ATRG, ZIKL, FQMV

(1) POCG (2) BUDX
(3) FQMV (4) ZIKL
Options :

920906106873. 1
920906106874. 2
920906106875. 3
920906106876. 4

Question Number : 20 Question Id : 92090627048 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the most appropriate description about these three words.
Sand stone : Limestone : Coal

(1)  They are formed by metamorphic rocks
(2) They are chemical minerals
(3) They are found in river beds

(4)  They are formed sedimentary rocks

Options :

920906106877. 1
920906106878. 2
920906106879. 3
920906106880. 4

Question Number : 20 Question Id : 92090627048 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the most appropriate description about these three words.
Sand stone : Limestone : Coal

(1)  They are formed by metamorphic rocks
(2) They are chemical minerals
(3) They are found in river beds

(4) They are formed sedimentary rocks

Options :

920906106877. 1
920906106878. 2
920906106879. 3
920906106880. 4

Question Number : 21 Question Id : 92090627049 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The international Court of Justice was established in the year:

(1) 1946 (2) 1948
(3) 1950 (4) 1947
Options :

920906106881. 1
920906106882. 2
920906106883. 3
920906106884. 4

Question Number : 21 Question Id : 92090627049 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The international Court of Justice was established in the year:

(1) 1946 (2) 1948
(3) 1950 (4) 1947
Options :

920906106881. 1
920906106882. 2
920906106883. 3
920906106884. 4



Question Number : 22 Question Id : 92090627050 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List I :

List I (Country) List II (Emblem)
(A) Australia (I) Lionel Capital
(B) United States of America (II) Kangaroo
(C) India (ITT) Golden rod
(D) United Kingdom (IV) Rose

(Choose the correct answer from the options given below:

(1) (A-ID, (B)-(ID), (C)-(D), (D)-IV)
(2 (A)-AD, (B)-(ID), (C)-(IV), (D)-(D)
(3 (A)-AID, (B)-(1D), (C)-(D), (D)-(IV)
(4)  (A)-AV), (B)-(IID), (C)-(I), (D)-(II)

Options :

920906106885. 1
920906106886. 2
920906106887 3
920906106888. 4

Question Number : 22 Question Id : 92090627050 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Mateh List T with List IT -

List [ (Country) List II (Emblem)
(A) Australia (I) Lionel Capital
(B) United States of America (II) Kangaroo
(C) India (IIT) Golden rod
(D) United Kingdom (IV) Rose

Choose the correct answer from the options given below:

(1) (A)-ID, (B)-(ID), (C)-(I), (D)-(IV)
(2)  (A)-ID, (B)-(ID), (C)-(IV), D)-(D)
(3 (A)-aID, (B)-(ID), (C)-(I), (D)-(IV)
(1)  (A)-AV), (B)-(11D), (C)-(D), (D)-(1I)

Options :

920906106885. 1
920906106886. 2
920906106887. 3
920906106888. 4

Question Number : 23 Question Id : 92090627051 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

National Development Council was constituted on

(1)  Augustl6, 1950 (2) Aprl 01, 1951
(3)  August 06, 1952 (4) August 16, 1952
Options :

920906106889. 1
920906106890. 2
920906106891. 3
920906106892. 4

Question Number : 23 Question Id : 92090627051 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



National Development Council was constituted on

(1)  Augustl6, 1950 (2) April 01, 1951
(3)  August 06, 1952 (4) August 16, 1952
Options :

920906106889. 1
920906106890. 2
920906106891. 3
920906106892. 4

Question Number : 24 Question Id : 92090627052 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(Given below are two statements: One 15 labelled as Assertion (A) and the other is
labelled as Reason (R).

Assertion (A) : Marathas emerged as the strongest native power in India after the
decline of Mughal

Reasons (R) :  Maratha were the first to have a clear concept of United Nation.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) 15 NOT the correct explanation of (A)
(3) (A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct

Options :

920906106893. 1
920906106894. 2
920906106895. 3
920906106896. 4

Question Number : 24 Question Id : 92090627052 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(Given below are two statements: One 15 labelled as Assertion (A) and the other 1s
labelled as Reason (R).

Assertion (A) : Marathas emerged as the strongest native power in India after the
decline of Mughal

Reasons (R) :  Maratha were the first to have a clear concept of United Nation.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) 15 NOT the correct explanation of (A)
(3) (A) 1s correct but (R) is not correct

(4) (A) is not correct but (R) is correct

Options :

920906106893. 1
920906106894. 2
920906106895. 3
920906106896. 4

Question Number : 25 Question Id : 92090627053 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Deepika Kumari is associated with which of the following sports?

(1) Archery (2) Gymnastics
(3) Badminton (4) Athletics
Options :

920906106897. 1
920906106898. 2
920906106899. 3
920906106900. 4

Question Number : 25 Question Id : 92090627053 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Deepika Kumari 1s associated with which of the following sports?

(1) Archery
(3) Badminton

(2) Gymnastics
(4) Athletics

Options :

920906106897. 1
920906106898. 2
920906106899. 3
920906106900. 4

Part B: Computer Science and Information Technology

Section Id : 920906536
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Yes
Response :

Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 920906870
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 92090627054 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

If a=cos2a+isin2¢ and b=cos2f+:151n 27 then

(1) Jab =cosla+ B)-isin(a+ B)
3)  Jab =sin(a+ f)+icos(a + )

Options :

920906106901. 1
920906106902. 2
920906106903. 3
920906106904 4

2) ab =coda+ p)+isinla+ B)

(4)

Jab =sin(a + f)—icoda + B)



Question Number : 26 Question Id : 92090627054 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

IR a =cos2a +isin2a AR b= cos2f+isin2F dd

(1) ab =coda+ B)-isin(a+ B)
2 Jab =coda+pB)+isin(a+ B)
3)  Jab =sinla+ B)+icosda+ B)
@)  ab =sin(a+ g)—icoda + p)

Options :

920906106901. 1
920906106902. 2
920906106903. 3
920906106904. 4

Question Number : 27 Question Id : 92090627055 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3 2

If y=x?+x“+x+1, theny

(1) has a local minimum
(2) has a local maximum
(3) neither has a local minimum nor local maximum

(4)  both local minimum and local maximum

Options :

920906106905. 1
920906106906. 2
920906106907. 3
920906106908. 4

Question Number : 27 Question Id : 92090627055 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



; &
qﬁ, ‘v:x'J’ +x " +x+1,dd y

(1) & RFHY YA g

2) @™FYGI=FdH eI

(3) Al R AAH g SR A1 g1 R 3|
4)  SFFY A SR RIFY 3= B

Options :

920906106905. 1
920906106906. 2
920906106907. 3
920906106908. 4

Question Number : 28 Question Id : 92090627056 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The mean of 50 items is 100. At the time of caleulations, two items 80 and 190 were

wrongly taken as 90 and 20. What is the correct value of the mean?

(1) 102.5 (2) 103.2
(3) 103.5 (4) 104.2
Options :

9209061069009. 1
920906106910. 2
920906106911. 3
920906106912. 4

Question Number : 28 Question Id : 92090627056 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

50 Hal 1 HIEd 100 €1 70T & 9HY & Hel 80 3R 190 HI Tad! ¥ 90 3R 20 A ferar |
HIe &1 Hgl AF 18

(M 102.5 (2) 103.2
(3) 103.5 (4) 104.2
Options :

9209061069009. 1



920906106910. 2
920906106911. 3
920906106912. 4

Question Number : 29 Question Id : 92090627057 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If f : R—>R is defined by f(x)=3x>—5 and g: R>Rby g(x)= —— then gof(x) is
x+1
3x% -5 3x2 +5
(1) S G =1 3
9x™ -30x" +26 O9x~ —6x" +26
oo o2
dx 3x
= L e ( —
x +2x" -4 O9x" +30x" -2
Options :

920906106913. 1
920906106914. 2
920906106915. 3
920906106916. 4

Question Number : 29 Question Id : 92090627057 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

af s T —R &I f{.‘c]=3x2 -5 Q'R'[G:h"\fg; ;'E{—}Iiaﬂgix}= T g1 g faar

b

x“+1
gl gof(x) Bl
g 2

(1) e ) 2t

9x? -30x% + 26 ax? - 6x2 + 26

32 32

(3) _— (4) .

xl+2c2 -4 9x? +30x% -2

Options :

920906106913. 1
920906106914. 2
920906106915. 3
920906106916. 4



Question Number : 30 Question Id : 92090627058 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The sum of two digits no. is 10, on reversing the digits of a number the number is
decrease by 36. Find the number.

(1) 73 (2) 37
(3) 28 (4) 46
Options :

920906106917. 1
920906106918. 2
920906106919. 3
920906106920. 4

Question Number : 30 Question Id : 92090627058 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

&l il B T-AT HTUN 10 § | G- & 3] B Jdied R T H 36 B &4 61 Il g| J=l

F1d Hiferg|

(y 73 2y 37
(3) 28 (4) 46
Options :

920906106917. 1
920906106918. 2
920906106919. 3
920906106920. 4

Question Number : 31 Question Id : 92090627059 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The number of vectors of unit length perpendicular to vectors a:[l,l,{]} and

b=(0,11)is

(1) one (2) two

(3)  three (4) infinite
Options :

920906106921. 1
920906106922. 2
920906106923. 3
920906106924. 4

Question Number : 31 Question Id : 92090627059 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Al a=(1,1,0)3R b =(0,1,1) & dadd P13 qdls & AU &I G 5|

(1) TP @ @
(3) dHF (4) 3d
Options :

920906106921. 1
920906106922. 2
920906106923. 3
920906106924. 4

Question Number : 32 Question Id : 92090627060 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let A(3,0,-1), B(2,10,6) and C(1,2.1) be the vertices of a triangle and M be the
mid-point of AC. If G divides BM in the ratio 2 : 1, then cos(£ZGOA) (O being the

origin) is equal to

1 115 (2) 1/215
3 1/4/30 (1) 1/6410
Options :

920906106925. 1



920906106926. 2
920906106927. 3
920906106928. 4

Question Number : 32 Question Id : 92090627060 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HH fAsiiT A(3,0.-1), B(2,10,6) IR €(1,2,1) W RAYA S N € IR M AcHT A fig ¢ |
gl 6 BM @1 2: 1, & Urd # faHTid &Rl 8, @ cos(£GoA) (OHag e F A0 | &
TR g :

(M  1/415 @ 1/2415
3) 1/430 @) 1/6J10
Options :

920906106925. 1
920906106926. 2
920906106927. 3
920906106928. 4

Question Number : 33 Question Id : 92090627061 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If A=26, SUN =27 then CAT =7

(1) 24 (2) 27
(3) 57 (1) 58
Options :

920906106929. 1
920906106930. 2
920906106931. 3
920906106932. 4

Question Number : 33 Question Id : 92090627061 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gfd A=26, SUN =27 dICAT =2

(1) 24 (2) 27
& 57 (4) 58
Options :

920906106929. 1
920906106930. 2
920906106931. 3
920906106932. 4

Question Number : 34 Question Id : 92090627062 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If 2u =5x ., is the relation between two variables u and x, and harmonic means of x is

0.8, find the harmoniec mean of u.

(1) 1.250 (2) 1.500
(3) 2 (4) 0.32
Options :

920906106933. 1
920906106934. 2
920906106935. 3
920906106936. 4

Question Number : 34 Question Id : 92090627062 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TfE 2u = 5x, YT u 3R x P 4 HGH g 3R x 1 GIHD A1 0.8 €, a1 v I gD A
EIGET

(1) 1.250 (2) 1.500
@) 2 4) 032
Options :

920906106933. 1
920906106934. 2
920906106935. 3



920906106936. 4

Question Number : 35 Question Id : 92090627063 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The variance of a series of numbers 2. 3, 11 and x is 12.25. Find the value of x.

(1) 6 or E (2) 4or E
r‘s '.-5
@) 6or .1_;1 4) 4or -1_:-

Options :

920906106937. 1
920906106938. 2
920906106939. 3
920906106940. 4

Question Number : 35 Question Id : 92090627063 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=T 2, 3, 11 3R x B Y@ B YHL01 12.25 § | + D1 HH JTd Difow

1) 69R % 2) 49R lr-:l
3) 69K % @) 43R %
Options :

920906106937. 1
920906106938. 2
920906106939. 3
920906106940. 4

Question Number : 36 Question Id : 92090627064 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



If A, (G, H be respectively, the A M., G.M., and H.M. of three positive numbers a, b, ¢;
then the equation whose roots are these numbers is given by

1) x3-3422+G3Bx-1)=0 @ x3-34x2 +3(G3/H)x-G3 =0

@  B+342+3G3H)x-GP=0 (@) x3-34x%-3G3/H)x+G3 =0

Options :

920906106941. 1
920906106942. 2
920906106943. 3
920906106944. 4

Question Number : 36 Question Id : 92090627064 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

afg A, G, H BHY: diF Y-TeT® GE&3il g, b, ¢ BT AM, GM, 3R HM. 81 dl 98 eI
T ga 4 S@=aml g, A & gR flear Srar g

M x®-34x2+G%Bx-1)=0 2) x"a—aﬂ.r2+3[ﬂ""‘/ﬂ}x—(}"q={]
3) x°+34x%+ S[GH/H]I ~G?=0 @) x3-34x2- S[G:*/H]x +G3 -0
Options :

920906106941. 1
920906106942. 2
920906106943. 3
920906106944. 4

Question Number : 37 Question Id : 92090627065 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

+c

If a,b,c are non-coplanar unit vectors such that Ex(ExF}: then the angle

between a and b 1s
(1) 3nx/4 (2) /4

(3) /2 (1) =«



Options :

920906106945. 1
920906106946. 2
920906106947. 3
920906106948. 4

Question Number : 37 Question Id : 92090627065 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
i 5.5.7 TP TR T T AR & 3R ax{gx;):ﬁ%ﬁ) & 2R b Fg TP
8!

(m 3 xfd (2) =f4
(3) =2 4) =
Options :

920906106945. 1
920906106946. 2
920906106947. 3
920906106948. 4

Question Number : 38 Question Id : 92090627066 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The equation of the bisector of the acute angle between the lines 3x =4y +7=0 and

12x +5y -2=0

(1)  99x —-27y —-81=0 (2) 1lx -3y +9=0
(3)  2lx+T7y -101=0 (4) 21x +T7Ty +101=0
Options :

920906106949. 1
920906106950. 2
920906106951. 3
920906106952. 4

Question Number : 38 Question Id : 92090627066 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

T 3x —4y +7=0 R 12x +5y —2=0 &rd Y DIV & fGHSTD BT FHIHI ¢ :

(1) 99x — 27y —81=0 (2) 1lx -3y +9=0
(3) 21lx +77y -101=0 (4) 21x +77y +101=0
Options :

920906106949. 1
920906106950. 2
920906106951. 3
920906106952. 4

Question Number : 39 Question Id : 92090627067 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The tangent to the hyperbola x* — y* =3 are parallel to the straight line 2x +y +8=0

points are

[1} {21 2]; {1!- 2;' {21 (21- _1}1- {_21- 1}

3 (2,-1),(,2) (4) i—2Z;-1); -1, —2)
Options :

920906106953. 1
920906106954. 2
920906106955. 3
920906106956. 4

Question Number : 39 Question Id : 92090627067 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HARATT 2 - y2 =3 B WG FR @ 21 + y + 8=0 & gl F IR B :

(m  (22.(01,2) (@) Z=12.1)
{3} {_Er _1 }J [11 2] {4} {_21 _T L {_Tr _2}
Options :

920906106953. 1
920906106954. 2



920906106955. 3
920906106956. 4

Question Number : 40 Question Id : 92090627068 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Function f(x)=(x +1f™* is continuous at x =0, then the value of f(0) is

1

2 B 2) 0
(3) e (4 1
Options :

920906106957. 1
920906106958. 2
920906106959. 3
920906106960. 4

Question Number : 40 Question Id : 92090627068 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

B f(x)=(x +1)** x =0 WAII &, dl f(0) BIAA &

M @ o
) e 4 1
Options :

920906106957. 1
920906106958. 2
920906106959. 3
920906106960. 4

Question Number : 41 Question Id : 92090627069 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(ziven below are two statements : One is labelled as Assertion (A) and the other is
labelled as Reason (R) :

Assertion (A) : Equation 5x -7y +z =11, 6x -8y -z =15 and 3x +2y -6z=7, then

the system is consistent and has infinitely many solutions.

Reasons (R): If D=0 then the 3 linear equations 1s consistent and has infinitely

many solutions if D, =D, =D, =0,

In the light of the above Statements, choose the correct answer from the options given

below :

(1)
(2)
(3)
(4)

Options :

Both (A) and (R) are true and (R) 15 the correct explanation of (A)
Both (A) and (R) are true but (R) 15 NOT the correct explanation of (A)
(A) 1s true but (R) is false

(A) 1s false but (R) 1s true

920906106961. 1
920906106962. 2
920906106963. 3
920906106964. 4

Question Number : 41 Question Id : 92090627069 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



2 31 YA AU U § TP HUSYA (Assertion A) F ®U T fifEd § O g1 IS HRU
(Reason R}aﬂ:ﬁq ff;

AUFYAA :  FHIB 5x ~Ty +2 =11, 6x —8y —z =15 3R 3x +2y -6z =7, I YOI
WA R39S AT TU A DS gl g |

PRUIR : gfe p=0 @ 3V GHIFIV S8 3R R D, =D, =D, =0 ¢ I 3Fd
U 35 A ¢

IR HYF & 3Mciie H, A1 U 7 fadedi § 9 G Iugdd IR &1 994 Sifoig

(1) A SRR I8l & 3R R, A B Hel =T &

(2) ASRRTA HE § AfPAR A B G BN S ©
(3) AWelE, AfbTREE T

(4) AT TGI8, Al R WS g A FYA RU ML R

Options :

920906106961. 1
920906106962. 2
920906106963. 3
920906106964. 4

Question Number : 42 Question Id : 92090627070 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

if a.b and ¢ are three non-coplanar vectors, then (i_]" +b+ ::) [(r_x + .E_:r]x Fx +;=)] equal to

1 o @ -label
® 3slabel ) 2label
Options :

920906106965. 1
920906106966. 2
920906106967. 3
920906106968. 4

Question Number : 42 Question Id : 92090627070 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A a,b IR ¢ ARG TRAGA (a+b+c)-|(a+b)x(a+c)| RRE

(1) 0 2 -labc]
(3) 3[5, b E] (4) 2[& b E}
Options :

920906106965. 1
920906106966. 2
920906106967 3
920906106968. 4

Question Number : 43 Question Id : 92090627071 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Find the sum of two consecutive numbers in which four times are first number is 12

more than the thrice of the second number

(1) 27 (2) 31
3 24 (4) 25
Options :

920906106969. 1
920906106970. 2
920906106971. 3
920906106972. 4

Question Number : 43 Question Id : 92090627071 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

&1 TR HEA13{l &1 g0 Fid B3 o ud uged! S &1 IR TH1 gas] 811 & 9 T ¥ 12
e §

(ny 27 (2) 31
(3) 24 (4) 25

Options :



920906106969. 1
920906106970. 2
920906106971. 3
920906106972. 4

Question Number : 44 Question Id : 92090627072 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If @ and 8 are the roots of a quadratic equation x* +ax + #=0 where =0, then

what is the value of o+ g?

(1) 3 (2) 4
(3) -1 (4) -3
Options :

920906106973. 1
920906106974. 2
920906106975. 3
920906106976. 4

Question Number : 44 Question Id : 92090627072 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gfd « and g AU FHERU x2+ax + =0 BT HA G, &l F=20, T o+ F HA
2?2

n 3 2) 4
3) -1 “4 -3
Options :

920906106973. 1
920906106974. 2
920906106975. 3
920906106976. 4

Question Number : 45 Question Id : 92090627073 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The joint equation of the straight line x +y =1 and x -y =4 1s

(1) x“ =y ==4 (2) x*=-y"=4
(3) (x + —1}[x -y -4)=0 (4) (x+y+1l)x-y+ 4}:(}
Options :

920906106977. 1
920906106978. 2
920906106979. 3
920906106980. 4

Question Number : 45 Question Id : 92090627073 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Hteft Yl x+y =1 a'h? xr=y :daﬂww%

(1) x° -y =—4 2) x*-y"=4
(3) (x +y -1)x -y -4)=0 4 (x+y+1)x-y+4)=0
Options :

920906106977. 1
920906106978. 2
920906106979. 3
920906106980. 4

Question Number : 46 Question Id : 92090627074 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A beam is supported at its ends by supporters which are 12 meters apart. Since the
load is concentrated at its centre, there i1s a deflection of 3 ecm at the centre and the

deflected beam is in the shape of a parabola. How far from the centre is the deflection

1 cm?

(1) 2/6m (2) 243 m

(3) 2J8m (4) 25 m
Options :

920906106981. 1
920906106982. 2



920906106983. 3
920906106984. 4

Question Number : 46 Question Id : 92090627074 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

P o o0 RRY R g0 gr1 gnffd € S 12 m 3@ 8] 9 YR 39 $x W Hfed §
4o 38 &g | 3 cm IH &1 389 gia1 g 3R faaftd &0 v uaay & 3R § gl
%ﬁﬁ'@fﬁﬁ:ﬁgﬁﬁﬁm‘l cm%|

(1)  2J6m (2) 2J3m
(3) 2J8m 4 2J5m
Options :

920906106981. 1
920906106982. 2
920906106983. 3
920906106984. 4

Question Number : 47 Question Id : 92090627075 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The number of common tangents that can be drawn to the circle

x2+y2-4x -6y -3=0and x2+y%2+2x +2y +1=0 is

(1) One (2) Two
(3) Three (4) Four
Options :

920906106985. 1
920906106986. 2
920906106987. 3
920906106988. 4

Question Number : 47 Question Id : 92090627075 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



qﬂ _x:j+‘}'j—-1_t'—5}'—3:ﬂ \?’?lq xj+}|2+21" 4_2‘}'4.1:':] mma‘[—\qﬁ a]ﬁlg”—qﬁg
Wy YErsii Bl IE g

(1) U® @
3) dHF 4) TR
Options :

920906106985. 1
920906106986. 2
920906106987. 3
920906106988. 4

Question Number : 48 Question Id : 92090627076 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Q

The area of region bounded by the curve y==x, the y-axis and between y =2 and y =

4 18

(1) lj 8. units {2) % 8(. units

(3) r’—? 8q. units (4) % sq. units
Options :

920906106989. 1
920906106990. 2
920906106991. 3
920906106992. 4

Question Number : 48 Question Id : 92090627076 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

am y2=x, )-8 AR =2 3R y= 4 % 9 R &7 1 &G A R |
m 2 aieE @ = wigeR
@ 5 g @ 2 wigeE



Options :

920906106989. 1
920906106990. 2
920906106991. 3
920906106992. 4

Question Number : 49 Question Id : 92090627077 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The area of the region bounded by the curve x* =4y and the straight line x =4y -2 is
g1 3 A g 3

(1) gi sq. units 2) g‘ sq. units
i [
@ Lownunits B 2 s i
&8 8
Options :

920906106993. 1
920906106994. 2
920906106995. 3
920906106996. 4

Question Number : 49 Question Id : 92090627077 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g x® =4y SR Hieh T « =4y -2 & o9 foR &5 &1 8% §

M 2 aieE @ 2 @iser
(3) g aif gTS ) % a1l gTS
Options :

920906106993. 1
920906106994. 2
920906106995. 3
920906106996. 4

Question Number : 50 Question Id : 92090627078 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
If log, 2, lng”{?r - :".-) and lug:h(ﬂx - 7,"'2) are in A.P_, then x is equal to

(1 2 (2) 3
(3) | (4 2,3
Options :

920906106997. 1
920906106998. 2
920906106999. 3
920906107000. 4

Question Number : 50 Question Id : 92090627078 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

afe log, 2, ]ng_q(-‘.l"' —:".r:} 3R lngH(‘f —T;“E:} AR M AR T xyE &

(m 2 (2} 3
(3) 4 4 23
Options :

920906106997 1
920906106998. 2
920906106999. 3
920906107000. 4

Question Number : 51 Question Id : 92090627079 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A tower standing on a horizontal plane subtends a certain angle at a point 160 m
apart from the foot of the tower. On advancing 100 m towards it, the tower is found to
be subtend an angle twice as before. Find the height of the tower?

m : m
1 80 (2) 100

(3) 160 m (4) 200 m
Options :

920906107001. 1
920906107002. 2
920906107003. 3
920906107004. 4



Question Number : 51 Question Id : 92090627079 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U GHdd Udg IR Tl Uh 2R Fae R 4 160 Hiex R U@ fdg W IS DU A ¢ | 39
fag @1 3R 100 HeX 3F HIA W efar Ygd H1 GH[AT HIV] &1dl & | dl elar DI Halg F1d

(1) 80 HT (2) 100 HieX
(3) 160 HieX (4) 200 HieX
Options :

920906107001. 1
920906107002. 2
920906107003. 3
920906107004. 4

Question Number : 52 Question Id : 92090627080 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If tana =1/3, tanf#=1/7 and 2« + §=m , then sin2m is equal.

(1) 0 Z) 1
(3) 2 (4) 3
Options :

920906107005. 1
920906107006. 2
920906107007. 3
920906107008. 4

Question Number : 52 Question Id : 92090627080 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
gfe tana =1/3, tan =17 IR 24 +B=m, dl sin2m W%

(m 0 @ 1
3 2 “4) 3

Options :



920906107005. 1
920906107006. 2
920906107007. 3
920906107008. 4

Question Number : 53 Question Id : 92090627081 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If an angle « is divided into two parts A and B such that A-B=x and
tanA:tanB=£k:1, then the value of sinx is

sl 2
(1) k_l,mrx (2) ﬁc+l‘!ma
u kR+1
(3) : = i sin & (4) %com
Options :

9209061070009. 1
920906107010. 2
920906107011. 3
920906107012. 4

Question Number : 53 Question Id : 92090627081 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gfe Ud B ¢ BT ol M A 3R 48 39 USR fauioa fen i g 6 A-B =x 3R
t.anA:tanB=k:l,fns-;1n_r WIIFF%

(1) > _:sinrx (2) ” +lsina
(3) g sin 4) COS
Options :

920906107009. 1
920906107010. 2
920906107011. 3
920906107012. 4

Question Number : 54 Question Id : 92090627082 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The base of a tower 15 80m away from a point A on the ground. If the angle of
elevation of the top of the tower from A is 45. Caleulate the height of the tower.

e

hm

(1) 56.3m (2) 80.0m
(3) 136.3m (4) 50.3m

Options :

920906107013. 1
920906107014. 2
920906107015. 3
920906107016. 4

Question Number : 54 Question Id : 92090627082 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ush HIAR &1 YR FHT TR U fdg A & 80 HieX g 8 | i A ¥ HHR & i &1 I Sivl
45° 3 T HFR 31 T3 &1 Sl BHifoe

L
- hm
o..
A L45° Ol
fe—— 80 m—{
(1) 563 HieX
(2) 80.0HR
(3) 1363 HIX
(4) 503 HIX
Options :

920906107013. 1



920906107014. 2
920906107015. 3
920906107016. 4

Question Number : 55 Question Id : 92090627083 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
If the angle between the two lines 2x” +5xy+3y" +6x+Ty+4=0 1s represented by

tan~' (m), then m is equal to

1 2

gy - (2 =

3] i)

3 1

3 - ) —

@ < @ 3%
Options :

920906107017. 1
920906107018. 2
920906107019. 3
920906107020. 4

Question Number : 55 Question Id : 92090627083 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
gdl gl @l 2x? + 5xy+3y" +6x+Ty+4=0 & dig &1 B0l tan~ (m) & [F1Ed] Frefua fear
WA e d m SRR E

(2)

a

(1)

(3) i @)

]
=

Options :

920906107017. 1
920906107018. 2
920906107019. 3
920906107020. 4

Question Number : 56 Question Id : 92090627084 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

The minimum number of 2-input NAND gates required to implement the function
F=(x"+y")z+w) is

(1) 3 (2) 4
(3) 5 (1) 6
Options :

920906107021. 1
920906107022. 2
920906107023. 3
920906107024. 4

Question Number : 56 Question Id : 92090627084 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Bad  F =(x'+y")z +w )P SATEd FA & AU 3IGF 2 I99¢ NAND T2 &1 GAdH
e g

(1 3 2) 4
(3) 5 4) 6
Options :

920906107021. 1
920906107022. 2
920906107023. 3
920906107024. 4

Question Number : 57 Question Id : 92090627085 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Find the sum of following hexadecimal numbers (TCA),; + (4B2),,=?

(1) B7C (2) C7C
(3) D7C (1) B6C
Options :

920906107025. 1
920906107026. 2



920906107027. 3
920906107028. 4

Question Number : 57 Question Id : 92090627085 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Frofeifed gearSHine S8 &1 dM F1d HIY (7¢A),, + (4B2),, =2

(1) B7C (2) CiC
(3) D7C (4) B6C
Options :

920906107025. 1
920906107026. 2
920906107027. 3
920906107028. 4

Question Number : 58 Question Id : 92090627086 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

When even parity ASCII text is transmitted asynchronously at a rate of 10 characters

per sec. over a 110-bps line, what percentage of the received bits actually contain data

7 8

1 i oy 2

(1) %) (2) =

@ I @ 2

: 11 11
Options :

920906107029. 1
920906107030. 2
920906107031. 3
920906107032. 4

Question Number : 58 Question Id : 92090627086 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



W 339 T fae Ascl eaE &1 110 didieg @Ed W 10 3M&R ufd dds & W o
TP (asynchronous) ¥ I TR BT & | U f9ey & v ufda & araa § Se
g8

7 8

(1) i (2) 11

3y 100 n 20

(3) T (4) 11
Options :

920906107029. 1
920906107030. 2
920906107031. 3
920906107032. 4

Question Number : 59 Question Id : 92090627087 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Consider the unsigned 8-bit fixed point binary number representation below,

b7 be bs ba ba . bz b1 b

The position of binary point is between bz and bs which of the following can be
represented exactly in the above representation.

(1) 33.500 (2) 31.875
(3) 17.575 (4) 19.650
Options :

920906107033. 1
920906107034. 2
920906107035. 3
920906107036. 4

Question Number : 59 Question Id : 92090627087 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



9 o 8 - fae fAfyd fog a1t e ufafita R AR &,

b7 bs bs bs bz . bz b1 bo

a1zl uize @t f&fA by SR b, & &9 €, & g & ¥ IWia ufafAfta & faepa ueffa
far on g@ar g

(1) 33.500 (2) 31.875
(3) 17575 (4) 19.650
Options :

920906107033. 1
920906107034. 2
920906107035. 3
920906107036. 4

Question Number : 60 Question Id : 92090627088 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The values of x and y, if (x 567)s + (2yx5)s = (T1lyx)s

(1) 4, 3 (2 4,4
(3) 3, 4 (1) 4,5
Options :

920906107037. 1
920906107038. 2
920906107039. 3
920906107040. 4

Question Number : 60 Question Id : 92090627088 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
e (x567)s + (2)x5)s = (T1yMe B Al xR yHIAA
(1) 4,3 (2) 4.4

(3) 3.4 4) 4.5



Options :

920906107037. 1
920906107038. 2
920906107039. 3
920906107040. 4

Question Number : 61 Question Id : 92090627089 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The lines 2x +y —1=0, ax +3y —3=0 and 3x +2y —2=0 are concurrent for

(1) for all a (2) a=4only
(3) -1=a=3 (4) a=0 only
Options :

920906107041. 1
920906107042. 2
920906107043. 3
920906107044. 4

Question Number : 61 Question Id : 92090627089 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T2 +y—-1=0,axr+3y —3= 3 +2y =2=0
@MU 2x + : 0 3R - TR &

(1) 9l 2 & e 2) a=4dad
(3) -1<a<3 4) a>0 Had
Options :

920906107041. 1
920906107042. 2
920906107043. 3
920906107044. 4

Question Number : 62 Question Id : 92090627090 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(Given below are two statements : One is labelled as Assertion (A) and the other is
labelled as Reason (R) :

Assertion (A): If the equation x?+ px +¢ =0 has rational roots and p and ¢ are

integers, then the roots are integers.

Reasons (R): A quadratic equation has rational roots if and only if its diseriminant
is a perfect square of a rational number.

In the light of the above Statements, choose the most appropriate answer from the
options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A) is correct but (R) is not correct

(1) (A) 15 not correct but (R) 1s correct

Options :

920906107045. 1
920906107046. 2
920906107047. 3
920906107048. 4

Question Number : 62 Question Id : 92090627090 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

19 S HYA 30 ¢ § 0P HUFUT (Assertion A) & FT  H ffdd B @ TR IS HRUI
(Reason R}%F‘I ff;

HHPYT A . TG FHBI 22 + px +¢ =0 F IRAG G p 3R ¢ QUi B, o Ha goifs €1

PRUIR: g%mW%u@nwaﬂ%mmﬁﬁwm&mﬁ
Gl

I HYH & 3fTdle H, - 30 70 fadhedl # ¥ el Iugad IR &1 994 Difeg

(1)  ASRRIAI TS § AR R A DI Hel AR &

(2) ASIRRTH Hel g, Al R, A DI el URAT ol &

3) ATGE ABARIE T

(4 AUSITRIE, APTRUSR

Options :



920906107045. 1
920906107046. 2
920906107047. 3
920906107048. 4

Question Number : 63 Question Id : 92090627091 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements @ One 1s labelled as Assertion (A) and the other is
labelled as Reason (R) :

Assertion (A) :  Gray code easy to use in counter.

Reasons (R):  Counter 1s a register, which is made of flip flops.

In the light of the above Statements, choose the most appropriate answer from the
options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A) 15 correct but (R) 1s not correct

(1) (A) is not correct but (R) is correct

Options :

920906107049. 1
920906107050. 2
920906107051. 3
920906107052. 4

Question Number : 63 Question Id : 92090627091 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



9 1 YA 3T 1T § UF SfHFYT (Assertion A) & U H fof@d & 1 TR ITF BRI
(Reason R}%F‘I ff;

HUFYT A - AP HIIeI H A A UG B 8 |
FRUIR: PTdex ored g, ol Wil Uard | &1 ¢
JURIR HYA & 3fdid |, 11 fGu U ol § 9 399 Iugad IR &1 994 Sifel

(1)
(2)
(3)
(4)

A SR R EHT HEl § 3R R, A BT TS BT

A 3R R SHI Tel &, Al R, A B! Uel SO A6l &
AT E Afp TR UG TR ©

ATE ST g, AT R Ul ®

Options :

920906107049. 1
920906107050. 2
920906107051. 3
920906107052. 4

Question Number : 64 Question Id : 92090627092 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One is labelled as Assertion (A) and the other is
labelled as Reason (R) :

Assertion (A) : RAM is a volatile memory.

Reasons (R):  The content of RAM get vanished as soon as power 1s off.

In the light of the above Statements, choose the correct answer from the options given
below :

(1)
(2)
(3)
(4)

Both (A) and (R) are true and (R) is the correct explanation of (A)
Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(A) 1s true but (R) is false

(A) is false but (R) is true

Options :

920906107053. 1
920906107054. 2
920906107055. 3



920906107056. 4

Question Number : 64 Question Id : 92090627092 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

12 31 Sy 3T U § TP HUSYA (Assertion A) B ®U ¥ fif@d § d gHU 39D HRU
{Reason R}%F‘I ﬁ;

AUBYTA : X (RAM) TS diaersd HHR g
HRUIR : OIeR - & gid a1 ¥ (RAM) & dee faq 8 9d g
IURIE HY & 3fTdiew H, 9 AU 7 faheul 7 9 ¥l Sugd I &1 994 Difer

(1) A SRR I8l & SRR, A B el AT &

(2) A SR RSH T8l € AFR, A FI Uel RS 781 &
3) AUEE AFTRIA TR

(4) AW TEIE AfPTRUE

Options :

920906107053. 1
920906107054. 2
920906107055. 3
920906107056. 4

Question Number : 65 Question Id : 92090627093 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(Given below are two statements : One is labelled as Assertion (A) and the other is
labelled as Reason (R) :

Assertion (A) : Interrupt service routine are generally executed by CPU to handles
an interrupt.

Reasons (R): CPU handles an interrupt by checking the interrupt register at fixed
time intervals.

In the light of the above Statements, choose the correct answer from the options given
below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3 (A) is true but (R) is false

(4) (A) 1s false but (R) 1s true

Options :

920906107057. 1
920906107058. 2
920906107059. 3
920906107060. 4

Question Number : 65 Question Id : 92090627093 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

& &1 YA AU MU § UP SfIHYA (Assertion A) & &Y T fafdd g o a1 39S RO
(Reason R}%F‘I ﬁ;

AUPYT A« S UdH T HHIR R WY gRI UH $eIP B U (handle) & 1T
e (execute) o GHHT%'I

HRUIR didig A 9y Siavd R gexp WoRex Y Wig b U IdIac &l
Tl g

I HYH & 3fdled H, - 13U 70 fadhedl # 9 el Iugad IR &1 994 Do

(1) ASRRIATHE T 3R R AP HE ARAT B

(2) ASIRRTHI Hal g, A R, A DI el ARAT T8l &

3) ATGE PRI T

(4 AUSTRIE, APTRUSR



Options :

920906107057. 1
920906107058. 2
920906107059. 3
920906107060. 4

Question Number : 66 Question Id : 92090627094 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A bag contains 10 red beads (R)and 5 black beads (B). A bead is taken out of the bag
at random, its color is noted and then it is not placed back in the bag. Calculate the
probability that first two beads are red.

(1) 417 (2) BT
(3) 1/3 (4) 317
Options :

920906107061. 1
920906107062. 2
920906107063. 3
920906107064. 4

Question Number : 66 Question Id : 92090627094 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Us o1 § 10 @1 (R) Hidl § 3R 5 $1al Hidl &1 U dict Jefese ¥4 Fe) 3 a1 9 fom
STl 8, 39! 1 Ale {1 oiidT § 311 a9 9 giaR1 o H 61 391 9l &1 Ugd ol Hidl aId &,
29 UG D1 AT Sifer|

(1) 4/7 (2) 5/7
(3) 173 4) 3/7
Options :

920906107061. 1
920906107062. 2
920906107063. 3
920906107064. 4

Question Number : 67 Question Id : 92090627095 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

(Given below are two statements :

Statement I:  If (12P), =(123), then the value of p is 8.

Statement I1: In 16-bit 2's complement representation, the decimal number -28 is
1111 111111100100.

In the light of the above Statements, choose the most appropriate answer from the
options given below :

(1) Both Statement [ and Statement Il are correct
(2) Both Statement [ and Statement Il are incorrect
(3) Statement I is correct but statement Il is incorrect

(4) Statement I is incorrect but statement Il 15 correct

Options :

920906107065. 1
920906107066. 2
920906107067. 3
920906107068. 4

Question Number : 67 Question Id : 92090627095 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R A FuRUTTE:
®YF | : UG (12P), = (123),, O p BTHFA 8 B

HY || - GIHAT AT - 28, 16 e 2 F R F==aor (') &, 1111 1111 1110 0100 B
IRIFd HYA & 3Mdid H, A fGu o fasedi § I "gl IR &1 994 Sifore

() HYF IR NS T8

2)  HYFI SR I EH EA 8

(3) YT FA g, dlh HYF 1l T B
(4) YA MTH g, b HUA 1| T B

Options :

920906107065. 1
920906107066. 2
920906107067. 3



920906107068. 4

Question Number : 68 Question Id : 92090627096 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following is not true?
(A) Ifa, b, carein AP and a, 2b, ¢ are in GP then a, 4b, ¢ are in HP
(B) The number 361 is not a term of the sequence a, =n" +2n +1.

(C) If p,g are the roots of (x-a)lx-b)-m=0, then a, b are roots of

[x —plx —q}+m. =0.

(D) The expression 9* - 3% +1 can assume all real values for x eR .

Choose the correct answer from the options given below :

(1) (A), (B) and (D) only (2) (B) and (C) only
(3) (A) and (C) only (4) (B) and (D) only
Options :

920906107069. 1
920906107070. 2
920906107071. 3
920906107072. 4

Question Number : 68 Question Id : 92090627096 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Frafafad 7 9 &9 91 9a 8 8

D.

g a, b, c APHE R a, 2b, cGPHE T a, 4b, cHPHEI
@1 39 3HH a, =n? +2n +1 B 9G el &
i p.q. (x-a)lx -b)-m=0 $E[§T§Eﬁ a, b (x-plx-q)+rm=0 ?IFH;?T‘B'I

9% _3% +1 BI D x e B & (010 G IRGldE AH A0 &R Hebdl g

42 fau 7T fasedi 7 9 el IR &1 994 Sifee

(1) &dd A B3IRD

(2) &ad B3RC

(3) ad ASIRC

4) Fad B3HRD
Options :

920906107069. 1
920906107070. 2
920906107071. 3
920906107072. 4

Question Number : 69 Question Id : 92090627097 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is not correct?

(A)

(B)
(C)
(D)

Sum of the vectors directed from the vertices to the mid-points of opposite side

of a triangle 1s zero.
Medians of a triangle are not concurrent.
The diagonals of a quadrilateral bisect each other iff it is a parallelogram.

Vectors having the different terminal point are called co—terminus vectors.

Choose the correct answer from the options given helow :

(1)
(3)

(A) and (C) only (2) (B) and (D) only
(B). (C) and (D) only (4) (A) and (B) only

Options :



920906107073. 1
920906107074. 2
920906107075. 3
920906107076. 4

Question Number : 69 Question Id : 92090627097 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFrofead 7 9 & w1 9d 8 ¢ -

A, T By & gep yorsi & Nt § v g el e Fewa il &1 ar 3= g gl
B. fobefl Bryel bt wiferanTd Tt =1t el §1

C. U agys & ol e wnfgifor d € afe U ue wHiak aqae 8|

D. 3feRT-3fe i fdg ara ufeeii &1 Sy afew w81 & 2

42 few e fasedi & 9 el IR &1 994 Pifee

(1) &dd ASIRC
(2) &ad B3RD
(3) &dd B, C3RD
(4) Hdd A3RB
Options :

920906107073. 1
920906107074. 2
920906107075. 3
920906107076. 4

Question Number : 70 Question Id : 92090627098 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



During the execution of an instruction in a processor

(A) Program Counter (PC) is used to hold the address of next instruction to be
executed.

(B) Instruction Register (IR) hold the instruction to be executed.
(C) Memory Address Register (MAR) is used to perform address translation.
(D) Data Register (DR) is used to perform operation on the data.

(E) Clock generates necessary control signals

Choose the correct answer from the options given below :

(1) Only (A) and (B) true (2) Only (C) and (D) true
(3)  Only (A), (B) and (E) true (4) Only (B), (C) and (D) true
Options :

920906107077. 1
920906107078. 2
920906107079. 3
920906107080. 4

Question Number : 70 Question Id : 92090627098 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U IR # U 9 & UaeiiageH (Fsaree) & aRMA

A, VR $eR (PC) BT 3TN Tdaiiage fHU SIF arell 3Te STaH &1 UgyH 3§ & fou
feaT wiTe g1

B. SxauH Ao Udniiage U WIF dTdl S¥cauH &1 3@dl g

C. USH THaYH &4 $ e AU TS e’ (MAR) &1 IUTNT {1 ST 8|

D. Se1foe (DR) BT FULNT 2T U I H- & foru fan Srar gl

E.  il$ 3a¥ge [ATA0 Hahd (Control signals) Eﬂﬁﬂfﬁ%l

2 fau T faeedl 7 9 9l IR $1 90 SHifere

(1) &dd AR BIATEI
(2) &ad C ARDIAEBI
(3) &dd A BIARETIEI
(4) Had B, C AR D AA B

Options :

920906107077. 1
920906107078. 2
920906107079. 3
920906107080. 4

Question Number : 71 Question Id : 92090627099 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement I :  The vector equation of line passing through two points with position

vector a and b is ;:E+ﬂ,[§+5)

Statement I ;.  The vector equation of a straight line passing through a fixed point

with position vector a and parallel to a given vector b is r =a+ b
where A is scalar.

In the light of the above Statements, choose the most appropriate answer from the
options given below :

(1) Both Statement [ and Statement Il are correct
(2) Both Statement [ and Statement Il are incorrect
(3 Statement I is correct but statement Il is incorrect
(4) Statement I is incorrect but statement Il 15 correct
Options :
920906107081. 1
920906107082. 2

920906107083. 3
920906107084. 4

Question Number : 71 Question Id : 92090627099 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R FyERuMUE:

DY | ﬁizﬁmi?m 5)%4’1? b & a1y &l faigsil & Hiey 9 oA drell 3@1 o1 Jiew gHtau
r=a+Alb+al %l

®yT 1 - ufa 9w « & 91y v g fig $ mream d oRA gt didt a1 & ey
HHHT0T 3R fU U WY 5 & WHAIGR £ =a+4b & 9al A U ARY I

I HY & 3fdid |, A fdu U fasmedl 1 9 9et It 9+ Hifeiw

(1) SYTIRNSAI g g

@)  BYTISRNEH EA 8

(3) YT A g, Ufpd HUF 1l A §

(4) HYTI TG, AP FUT 1 TA B



Options :

920906107081. 1
920906107082. 2
920906107083. 3
920906107084. 4

Question Number : 72 Question Id : 92090627100 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement [: Let a. b, ¢ be three vectors. Then the scalar {axﬁ)- ¢ is called the

scalar product of a, b, ¢ and is denoted by {E b E]:E - (EXE}.
Statement [1: axb is vector which is | to a and b both.

In the light of the above Statements, choose the most appropriate answer from the
options given below :

(1) Both Statement [ and Statement 1l are correct
(2) Both Statement [ and Statement Il are incorrect
(3) Statement [ is correct but statement [l is incorrect

(4) Statement I is incorrect but statement Il is correct

Options :

920906107085. 1
920906107086. 2
920906107087. 3
920906107088. 4

Question Number : 72 Question Id : 92090627100 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Ry RRumue:

FU | : AF AN a, b, ¢ T TR &1 AN MR (axb)- ¢ P =1 B[or Fet Sar §
aﬁ?s@r[daé}zd.(mé]‘g’mﬁwﬁaﬁmm%i
HUT I : axb TH AR Sl ¢ 3R b B & @d 8l

I HY & 3fdid H A f3u U faedi A 9 Hel sl 994 $ifoiu

(1) YR IIA I
2)  HYT 3RS 3T §
3) PYTITd g, AT HUT 1l 3T ©
(4) HYTI ATI g, A1 FYT 1 A8
Options :
920906107085. 1
920906107086. 2

920906107087. 3
920906107088. 4

Question Number : 73 Question Id : 92090627101 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I: The locus of the middle points of chords of the circle x* + y% =a*

which are parallel to the line y =mx is x —my =0.

Statement IT: The two tangents drawn from (4, 2) to x2 + y% =10 are perpendicular.

In the light of the above Statements, choose the most appropriate answer from the
options given below :

(1) Both Statement [ and Statement II are correct
(2) Both Statement I and Statement II are incorrect
(3) Statement [ is correct but statement 1l 1s incorrect

(4) Statement [ is incorrect but statement II is correct

Options :
920906107089. 1
920906107090. 2



920906107091. 3
920906107092. 4

Question Number : 73 Question Id : 92090627101 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

APy RTMUE:
BYAI| : G 22+ =a® B I oia1sf & wed fdigafi &1 WA @l y = mx F GHIR T,
x —my =D%|

DUTN: (4,2) F x2 4 y2 =10 T Didl 715 ol T W@ ddad gl
IR HY & Al H A U e fawedl § 9 98l I 994 ifery

(1) SYTISR NS a8

2) FYFIARNGHI T T

(3) Y| A 8, Alhd HYA || 3T 8
(4) DY WA g, b U 11 I §

Options :

920906107089. 1
920906107090. 2
920906107091. 3
920906107092. 4

Question Number : 74 Question Id : 92090627102 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

—_

Statement [ :  Three points with position vectors a.b,c are collinear iff there

exists scalars x,y.z not all zero such that xa+ yb+ze=0, where

x+yv+2=0.

Statement II :  Scalar product and vector product are both commutative.

In the light of the above Statements, choose the most appropriate answer from the
options given below :

(1) Both Statement [ and Statement Il are correct
(2) Both Statement I and Statement II are incorrect
(3 Statement I is correct but statement Il is incorrect
(4) Statement I is incorrect but statement Il 15 correct
Options :
920906107093. 1
920906107094. 2

920906107095. 3
920906107096. 4

Question Number : 74 Question Id : 92090627102 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R FyRUMUER:

sy | - Fufaafew o, 7, ¢ o i g wuvdle 81 3R gl Whaer (=) x,y.2 §, Tt
YIRS E x4+ y+2=0 & xa+yb+2c=0 |

HYA 11 : Y UHGE IR T UHE ST HHfRAET g

SRIF YA F 3fdies H, 1 3T 7Y fadeul 7 ¥ el Il 997 i

(1) SYIMR IS TG

2)  BYI SR I EH HEA§

3) HYF 19y g, dfhd B 1| ST 8
(4) HYTI TG, AP Y1 T &

Options :
920906107093. 1
920906107094. 2



920906107095. 3
920906107096. 4

Question Number : 75 Question Id : 92090627103 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(Giiven below are two statements :

Statement I :  In order to reset carry without affecting accumulator content, one has
to use ORAA.

Statement I Oetal code is minimal error code.

In the light of the above Statements, choose the most appropriate answer from the
options given below :

(1) Both Statement [ and Statement Il are correct
(2) Both Statement [ and Statement Il are incorrect
(3) Statement I is correct but statement I is incorrect

(4) Statement I is incorrect but statement Il is correct

Options :

920906107097. 1
920906107098. 2
920906107099. 3
920906107100. 4

Question Number : 75 Question Id : 92090627103 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TR HyERuMUE:

HYT | ;- THHAR ded bl YHIad [P f&91 H & e o313 & o 5 @1 oraa &1
TR AT 91U

BYT U AT BIS T TIdA FE FIS B

IURI $YF & 3eiid #, g 13U 70 fadpedi & 9 "l et 9g- Difor
(1) SYTIARISHI TS

) FYTIARIGHI T T

3) HYTIHIE, AfFT HYT 1 3T 8
(4) HYTI TG, AFTPYT I TA B

Options :

920906107097. 1
920906107098. 2
920906107099. 3
920906107100. 4

Question Number : 76 Question Id : 92090627104 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I : 011010 is 2’s complement representation of —37.

Statement [1: (211)zis octal representation of 137.

In the light of the above Statements, choose the most appropriate answer from the
options given below :

(1) Both Statement [ and Statement I are true
(2) Both Statement [ and Statement Il are false
(3) Statement I is true but statement II is false
(4) Statement I is false but statement II is true

Options :

920906107101. 1

920906107102. 2

920906107103. 3
920906107104. 4



Question Number : 76 Question Id : 92090627104 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR s RTMTE:

HYA| - 011010, 37 F 2 H RSP P! a1 ¢

FUT Il - (211)s, 137 BT 3PP (Octal) B ST &

IR B & 3fidies |, A9 fu e fdeeul 7 9 uel 3! 9g4 Fifo
(1) ®YFIR IS g e

2)  BYTISRIEH I E

3) Y19 e AfbAI U 1 3T B
(4) HYTI TG, APT YT T8

Options :

920906107101. 1
920906107102. 2
920906107103. 3
920906107104. 4

Question Number : 77 Question Id : 92090627105 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(Giiven below are two statements :

Statement I : Cache memory is a very high speed memory placed in between CPU
and Hard Disk.

Statement I : One major advantage of virtual memory is that programs can be
larger than main memory.

In the light of the above Statements, choose the most appropriate answer from the
options given below :

(1) Both Statement [ and Statement Il are true
(2) Both Statement [ and Statement Il are false
(3) Statement [ is true but statement 11 is false

(4) Statement I 15 false but statement 1l is true

Options :



920906107105. 1
920906107106. 2
920906107107. 3
920906107108. 4

Question Number : 77 Question Id : 92090627105 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR HyRuIU E:
FYA| - %ﬁchche;ﬁmﬂa@aﬁanﬁaﬁﬁﬁlﬂ@ﬁr%m@ﬁtﬂq&hsﬁm%mw
S gl

HYF || : T3 (virtual) THR] &1 Th §31 @Y T8 ¢ b HNE Y0 BERT I & 81 9ad g
JUIad HYA & Mdld |, 11 3 70 fasedi § 9 9gl I &1 994 Hifeig

(1) ®YTIRNSAI g 8

)  BYTI SR IS EA 8

(3) HYT | TA g, Al Y 1 A B
(4) DY TG g, Alb- DU 1 T &

Options :

920906107105. 1
920906107106. 2
920906107107. 3
920906107108. 4

Question Number : 78 Question Id : 92090627106 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement [ : The gradient of a straight line is constant i.e. it does not change.

Statement Il :  The gradient of a straight line can be calculated by considering the
coordinates of any two different points on the hine.

In the light of the above Statements, choose the most appropriate answer from the
options given below :

(1) Both Statement [ and Statement II are true
(2) Both Statement [ and Statement Il are false
(3) Statement I is true but statement I 1s false

(1) Statement [ is false but statement Il 1s true

Options :

920906107109. 1
920906107110. 2
920906107111. 3
920906107112. 4

Question Number : 78 Question Id : 92090627106 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

RgsyERume:
FY | - TP Gieh W1 ot yaurar fRR § sufd g8 dead! 78t 8|

®Y 11 TP Hiehh 3@ B yaurar 3@ R fHET Q1 fa-sie g & Fdwie w faar ave
DI ofl gl g

JUIH HYF & e 1 i G o fdesdi # 9 9el I 994 Sifeu

(1) YR NI

(2) @Y1 3R SHI TT §

(3) HYTI TG B, Alh YA Il ST ¢
(4) PUI| TG g, AP HUFT 1 T &
Options :

920906107109. 1

920906107110. 2
920906107111. 3



920906107112. 4

Question Number : 79 Question Id : 92090627107 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let f(x)=x" and A denote the area of the region bounded by f(x) and the x-axis,

when x varies from —1 to 1. Which of the following statements 1s/are true
(A) [fiscontinuous in [-1, 1]
(B) fis not bounded in [-1, 1]

(C) A is non zero and finite

Choose the correct answer from the options given below :

(1) (A) and (B) only (2) (B) and (C) only
(3 (C) only (4) (A) and (C) only
Options :

920906107113. 1
920906107114. 2
920906107115. 3
920906107116. 4

Question Number : 79 Question Id : 92090627107 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HIH SHOTE 3R f(x)=x23MR A, f(x) xH AR U AT DI AEWI PG, T x, -1 9 1
ae® Tedl o | Frafafaa 3§ § &F 91/8 Ty 98 2

A. F,[-1,1] $dEH Idd gl
B. f,[-1,1], 9% =gl 81
C. A TR AR URWT B

2 feu T fasedi @ 9 9al IR &1 98- Hifolg ;

(1) &dd A 3R B

(2) dda BARC

(3) &dd C

(4) ddd ASIRC
Options :

920906107113. 1
920906107114. 2
920906107115. 3
920906107116. 4

Question Number : 80 Question Id : 92090627108 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following 1s not correct?

(A) If A, B are two matrices such that AB=A and BA=B, then A and B are
idempotent.

(B) Every skew — symmetric matrix of odd order is invertible.
(C) If Ais a non-singular matrix, then A~ is skew-symmetric.

(D) The adjoint of a diagonal matrix is a diagonal matrix.

Choose the correct answer from the options given below :

(1) (A) and (D) only (2) (A), (B) and (C) only
(3) (B), (C) and (D) only (4) (C) and (D) only
Options :

920906107117. 1



920906107118. 2
920906107119. 3
920906107120. 4

Question Number : 80 Question Id : 92090627108 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFrafafEa # 9 $H-91/8 981 78 87

A. TGA BT AT T E [ AB = A 3R BA = Bl A 3R B T H B
B. Ud® fdvH % &1 fove qufiid Afeed amavid g1 g

C. A US Hepuvy Afcey g at A" foRke Fuftia g1

D. U® faspuf Afiday &1 WeWed (adjoint) U fasul At g1

1= feu o fawedi § 9 9et IR &1 =44 Hifeld :

(1) &dd ASIRD
(2) ®dd A B3IRC
(3) &dd B,C3IRD
(4) ®dd CRD
Options :

920906107117. 1
920906107118. 2
920906107119. 3
920906107120. 4

Question Number : 81 Question Id : 92090627109 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following binary numbers are divisible by 47
(A) 10101010101010

(B) 1110001110001

(C) 11001010100

(D) 1111000011

(E) 10010 1100

Choose the correct answer from the options given below :

(1) (A, (C), (D) only (2) (A), (B), (C) only
(3)  (C), (D), (E) only (4) (C), (E) only
Options :

920906107121. 1
920906107122. 2
920906107123. 3
920906107124. 4

Question Number : 81 Question Id : 92090627109 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fFrafafEd 7 9 @19 O sl e 4 3 faursa 82
(A)  10101010101010
(B) 1110001110001
(C) 11001010100
(D) 1111000011
(E) 10010 1100

14 fou U fasedi # 9 Tel STk &1 994 Hifoe
(1) &ad A C3RD

(2) &dd A B3R C
(3) ®dad C,D3RE
4) &dd C3RE

Options :



920906107121. 1
920906107122. 2
920906107123. 3
920906107124. 4

Question Number : 82 Question Id : 92090627110 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Let f(w,x,y,2)=2(0,4,5,7, 8, 9,13,15). Which of the following expressions are NOT
equivalent to f ?
(A) x'y'z'wo'xy'wey'z +xz
(B) w'y'z'wox'y'+xz
(C) w'x'y'z'wox'yxyz +xy'z
D) =x'y'z4+x'y'wo'y

(E) =x'y'z'wex'y'+4w'y

Choose the correct answer from the options given below :

(1) (D) and (E) only (2) (A) and (B) only
(3) (A) and (C) only (4) (A), (B) and (C) only

Options :

920906107125. 1
920906107126. 2
920906107127. 3
920906107128. 4

Question Number : 82 Question Id : 92090627110 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HHA WY f(w,x,%.2)=2(0,4,5,7,8,9,13,15) ¢l Fadif@a A A s W ie® f &
ENCRE

(A) x'y'z'we'xy'Hoy 'z +xz
(B) w'y'z'hox' y'+xz
(C) w'x'y'z"vox'" y'+xyz +xy'z

(D) x'y'z'+x'y'w'y

(E) x'y'z'ox"y'wo'y
14 feu e fasedi # 9 9El IR &1 99 Difed :
(1) &ad D 3RE
(2) Fdd A3RB
(3) @ad ASIRC
(4) FHdd A B3IRC
Options :

920906107125. 1
920906107126. 2
920906107127. 3
920906107128. 4

Question Number : 83 Question Id : 92090627111 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

For the given Truth Table is true:

(A) Yislfor AXORBANDC
(B) Yis1for ANOR BNANDC

(C) YisOfor AANDBANDC

Choose the most appropriate answer from the options given below :

(1)  (A), (B), (C) only (2) (A), (B) only
(3) (A), (C) only (4) (C)only

Options :



920906107129. 1
920906107130. 2
920906107131. 3
920906107132. 4

Question Number : 83 Question Id : 92090627111 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
& 7 T arfereeT & fou wa g

AlB C|Y
B R

A. Y, AT@R (XOR) B US (AND) C ¥ faw 1 31
B. Y, AdR (NOR)B S (NAND)C & felw 181
C. Y, AUS(AND)BUS (AND)C & i@ 0 B

Hia feu v faweul # 9 9 IR &1 994 Hifore

(1) &dd A, B3MRC

(2) &dd A 3R B

(3) Pad ASRC

(4) &dd C
Options :

920906107129. 1
920906107130. 2
920906107131. 3
920906107132. 4

Question Number : 84 Question Id : 92090627112 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Consider the following statements:
(A) I P= { :rn,,u} and @ :{ n,m } then Px@ = {[m_.u_‘.l,f_n,:irz J}.

(B) If A and B are the non-empty sets, then AxB is a non empty set of ordered
pairs (x, y) such that xe A and ye B.

(C) HA={12}, B={3,4}],then Ax(Bn¢)=4¢.

Choose the most appropriate answer from the options given below :

(1) (A) and (B) only (2) (B) and (C) only
(3 (A) and (C) only (4) (A), (B) and (C) only
Options :

920906107133. 1
920906107134. 2
920906107135. 3
920906107136. 4

Question Number : 84 Question Id : 92090627112 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFrafafad syl w fdar S|
A. g P={m,n) 3R Q={nm) ol Px@Q={m.n)(n,m)}

B. ARG A 3R B 3fRad THA € ol AxB HHId I (x, y) BT e =T 39 UHR ¢ &

xeﬂaﬁ?_}i eB.
C. X A={1,2), B={3,4} T Ax(Bng)=¢ (B3
12 f&u e faeseul # 9 el 9Tk &1 99+ Hifo ;

(1) &ad A 3R B
(2) Fdd B3RC
(3) ad A3RC
(4) HAd A B3R C
Options :

920906107133. 1
920906107134. 2
920906107135. 3
920906107136. 4



Question Number : 85 Question Id : 92090627113 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following assertions are correct?

(A) Adding 7 to each entry in a list adds 7 to the mean of the list.

(B) Adding 7 to each entry in a list adds 7 to the standard deviation of the list.
(C)  Doubling each entry in a list doubles the mean of the list.

(D) Doubling each entry in a list leaves the standard deviation of the list
unchanged.

Choose the most appropriate answer from the options given below :

(1) (A) and (B) only (2) (B) and (C) only
(3) (A) and (C) only (4) (C) and (D) only
Options :

920906107137. 1
920906107138. 2
920906107139. 3
920906107140. 4

Question Number : 85 Question Id : 92090627113 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fFrafafed sty 7 9 &9 3 98l §2

A, A EUSS Uiy & 7 SeA O Y & wrem ® 7 S Sl gl

B. Hdl T Ud® Ufdy & 7 oire 4 et & OHS fagad | 7 98 ol g |

C. g H Ul UfdfP &1 S 1 S Gel & Hied &l SRl Hdl g

D. YdlH Ud® ufafP &1 A1 3 | et H1 7S fage sruRafda wear g

42 feu e fasedi & 9 el IR &1 99 HifolT ;

(1) &dd A 3R B
(2) @&dd B3R C
(3) ad ASIRC
(4) &dd C3IRD
Options :

920906107137. 1
920906107138. 2
920906107139. 3
920906107140. 4

Question Number : 86 Question Id : 92090627114 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A is the son of B. C, B’s sister, has a son D and a daughter E. F is the maternal uncle
of D.

(A) Aisthecousinof D
(B E is the niece of F
(C) F has 2 Nephews

(D) Cisthe mother of E

Choose the correct answer from the options given helow :

(1) (A). (B), (D) only (2) (A), (C), (D) only
(3 (&), (B), (C), (D) only (4) (A).(B) only
Options :

920906107141. 1
920906107142. 2
920906107143. 3



920906107144. 4

Question Number : 86 Question Id : 92090627114 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ABHIYAL CBH T, FIDTHE AR TS G ERIF, DBTAMIEI
A. A DB NS S

B. E F&IYdel gl

C. F& 24 Bl

D. C E®IHAMIE

12 fau v fasel # 9§ el IR &1 99 SIS
(1) &dd A B3HRD

(2) &ad A C3RD

3) ABCS3RD

(4) Hdd A3REB

Options :

920906107141. 1
920906107142. 2
920906107143. 3
920906107144. 4

Question Number : 87 Question Id : 92090627115 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List T with List I1 :

List I List II
(A) (123)s (I) (0001 1111 1100),
(B) (IFC)s (II) (0011001)2
) (25)10 (I1I) (D001 0010 0011)2
(D) (123)16 (IV) (001 010 011)s

Choose the correct answer from the options given below:

(1) (A)-D), (B)-(D, (C)-(1D), (D)-(IV)
(2)  (A)-(V), (B)-(II), (C)-(D), (D)-(III)
(3 (A)-AV), (B)-(D, (C)-dD), (D)-(IIT)
(4)  (A)-AV), (B)-(ID), (C)-(D), (D)-(IT)

Options :

920906107145. 1
920906107146. 2
920906107147. 3
920906107148. 4

Question Number : 87 Question Id : 92090627115 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

At | & Ty g 11 T e St

-1 gt -1l
(A) (123)s (I) (0001 1111 1100)2
(B) (IFC)ig (ID  (0011001)2
(©) (25)0 (IIT) (0001 0010 0011).
(D) (123)e (IV) (001 010011)2

i feu o fawedl § ¥ el 39 &1 98- Fie:

(1 AQ)-D, (B)-ID, (C)-(ID), (D)-AV)
2)  (A)-aV), (B)-(ID), (C)-(), (D)-(ILI)
(3)  (A)-AV), B)-(D), (C)-aD), (D))
4)  (A)-(IV), (B)-a1), (O)-D), (D)-(ID



Options :

920906107145. 1
920906107146. 2
920906107147. 3
920906107148. 4

Question Number : 88 Question Id : 92090627116 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Mateh List I with Liszt IT :

List 1 List 11
(A) Firewire (I) Transmit one bit of data from single wire
(By Parallel Port (II) Common and popular external port
(C) Serial Port (ITT) Interface for connecting 8 or more data
wires
(D} Universal Serial Bus (IV) Used to connect audio video multimedia
devices

Choose the correct answer from the options given below:

(1)  (A)-(D), (B)-(ID), (C)-(I1I), (D)-(IV)
(2)  (A)-AV), (B)-(III), (C)-(ID), (D)-(T)
(3)  (A)-(IV), (B)-(ID), (C)-(11I), (D)-(I)
(4)  (A)-(V), (B)-(II), (C)-(D), (D)-(1T)

Options :

920906107149. 1
920906107150. 2
920906107151. 3
920906107152. 4

Question Number : 88 Question Id : 92090627116 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



it | & g 0 @ e s

git-| Tt -

(A) R () USd dR & 91d 4 0 fae &1 S
ciafie &l 8l

() THMIR e () 3MTH 3R BT TG (external) UIE

€ Hifad ure (i 3R 3fEF Se1 ari &1 wired & forg
E&LT]

(D) IfFadq Hivaa s9 (av) Sfffedl, difEan o aecite
JUSHRN Pl wits & ferg wdnT favar
EIGIE

+ra feu o fasedi d 9 98l TR &1 984 S

(M A)-D), (B)-1I), (C)-(I1IL), (D)-AV)
@) (A)-IV), B)-IID), (C)-1D), (D)-T)
3)  (A)-IV), B)-AD), (O)-IID), D)-(D
4)  (A)-(IV), B)-1), (C)-), (D)-(1D)

Options :

920906107149. 1
920906107150. 2
920906107151. 3
920906107152. 4

Question Number : 89 Question Id : 92090627117 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List I1 :

List 1 List I1
(A)  lim (1+sinx e @ eV
(B) lin}rer"' —(14+x)/x? (IT) e
necn (I1T) &2

©) lim[smeA

x—s0 x

" -,I.lr—fl- 1
"‘_"H'lk l-+-.|. J

Choose the correct answer from the options given below:

(1) (A)-(IID), (B)-(IV), (C)-(IT), (D)~(T)
(2)  (A)-(ID), (B)-(IV), (C)-(I), (D)-(IT)
(3) (A, (B)-(II), (C)-(II1), (D)-(IV)
(4)  (A)-(ID), (B)-(I), (C)-(IIL), (D)-(AV)

Options :

920906107153. 1
920906107154. 2
920906107155. 3
920906107156. 4

Question Number : 89 Question Id : 92090627117 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



it | & Gy g 1| 1 e Sifeg

- et -
(A) lirrtlj{l+sinx }Emtr (D e Ve
(B) lil.'nu*?x—I,r1+:|r_}/xE (II) e
x —+)
© 1'm[*iﬂx]%z (Im) e
) .t'l—:-ﬂ X
D) 1im[“z]m ) %
x=ml x+1

Hid fau 7T fasedl & 9 Oet 3 &1 994 DI

(1) (A)-(II), (B)-(IV), (C)-(IL), (D)~(I)
(2)  (A)-(ID), (B)-(IV), (C)-(D), (D)-(IT)
(3)  (A)-(D), (B)-(IL), (C)-(IID), (D)-(IV)
(4) (AL, (B)-(D), (C)-(I1D), (D)-(IV)

Options :

920906107153. 1
920906107154. 2
920906107155. 3
920906107156. 4

Question Number : 90 Question Id : 92090627118 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(Given below are two statements :

2
1 1 1 1
StatementI: For n=1. we have + + + ot o :
1-2 2.3 3.4 nin+l) n+1

Statement IT:  (1+x)" = (1+ nx) for all natural number n, where x >-1.

In the light of the above Statements, choose the most appropriate answer from the

options given below :

(1) Both Statement I and Statement Il are true
(2) Both Statement I and Statement II are false
(3 Statement I is true but statement 11 is false

(4) Statement I 1s false but statement I1 is true

Options :

920906107157. 1
920906107158. 2
920906107159. 3
920906107160. 4

Question Number : 90 Question Id : 92090627118 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
3 & py RRu e 2:

1 1 1 n*

EEQFII:GIHHEI,Eﬁ L + 4 ot
1-2 2.3 3.4 nln+1) n+1

DY (1+x) 2 (1+nx) TH UIHd TS » & forg &gl x> -1 &8l

IUIad YA & faid |, Ald fGu 1 fasedi d 9 9ol 3o &1 994 Hifeld

(1) ®YTISRISHITa g

2)  HYFTISR I GHI T B

(3) @Y FA g, A YA |l A 8
4)  HYT| TG B, AT FYT 1 T B
Options :

920906107157. 1
920906107158. 2



920906107159. 3
920906107160. 4

Question Number : 91 Question Id : 92090627119 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List 11 :

List [ List I1
(A) ADE:FGd:: KNO: ? () CLL
(B) CAT:DDY: BIG: ? (IT) AKB
(C) AKJ:GNM :EMD: ? (11I) PJG
(D) HNP:PDA: DLP: ? (IVy PQT

Choose the correct answer from the options given below:

(1) (A)-V), (B)-(), (C)-(I), (D)-(I1I)
(2)  (A)-IV), (B)-(ID), (C)-I), (D)D)
(3 W-(D), (B)-(ID), (C)-(1D), (D)-(IV)
(4)  (A)-. B)-(IV), (C)-(1I), (D)-(II)

Options :

920906107161. 1
920906107162. 2
920906107163. 3
920906107164. 4

Question Number : 91 Question Id : 92090627119 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Il | & |1y Gl 1| 67 HeE Hifeg
- g -l
(A) ADE :FGJ :: KNO: ? (h CLL
(B) CAT:DDY ::BIG:? (II) AKB
(C) AKJ:GNM:EMD:? (IIl) PJG
(D) HNP:PDA :: DLP: ? (IV) PQT

A fau v fasedi | 9 gl I &1 984 ST

(1) (A)-IV), (B)-(I), (C)-(1D), (D)-(111)
(2)  (A)-(IV), (B)-(IID), (C)-(IL), (D)-(T)
) (A, (B)-(ID), (C)-(I1I), (D)-(AIV)
@) (A)-D), (B)-(IV), (C)-(IID), (D)-(IT)

Options :

920906107161. 1
920906107162. 2
920906107163. 3
920906107164. 4

Question Number : 92 Question Id : 92090627120 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List I1

List I Last I1
(A) Binary coded Decimal (I} 4 bits are used to represent each digit
By ASCII (IT) Characters are represented by eight bits
(Cy EBCDIC (IIT) Character set supports Japanese and
Chinese fonts
(D) UNICODE (IV) Standard character codes used to store
data

Choose the correct answer from the options given below:

(1) (A)-), (B)-aOV), (C)-(1I), (D)-(III)
2 AQ)-d@). (B)-(D), (O)-(I1I), (D)-(IV)
(3) Q- (B)-(II), (C)-AV), (D)-(1IT)
(4) Q)@ (B)-(IV), (C)-(L), (D)-(LIT)



Options :

920906107165. 1
920906107166. 2
920906107167. 3
920906107168. 4

Question Number : 92 Question Id : 92090627120 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

it | 3 AT g | @ e St

Gail-| gt -1

A TSN DISSSHAT () UdD b B qUH & U 4 Few &1
ERUEGIE

(8) ASCII ay 9of 313 feew ¥ <9 9 d g

(© EBCDIC any  avf g S iR i gefed @
Y HI B

(D) UNICODE (v) HFF qU HIS BT Y4 Sel & GUUl &
fere fvan Srar g |

+rd feu e fawedl @ 9 96l IR &1 984 Fifoig:

1 (A)-(D), (B)-(IV), (C)-I), (D)-(I1L)

(1)

20 (A)-D), (B)-aD), (C)-(ID), (D)-(IV)

(3) (A)-(D), (B)-(1D), (C)-(IV), (D)-(11I)

@) (A)-D), (B)-(IV), (C)-(1I), (D)~(I1I)
Options :

920906107165. 1
920906107166. 2
920906107167. 3
920906107168. 4

Question Number : 93 Question Id : 92090627121 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT :

List I List II
(A) Dynamic RAM (I) ' Known as non-volatile memory and can be
programmed
(B) PROM (II) non-volatile and Random access digital Data

storage device

(Cy HDD (III) 1s made up of memory cells where each cell 1s
composed of one capacitor and one transistor

(D) Static Ram (IV) It retains the data as long as power is provided
to the memory chip.

Choose the correct answer from the options given below:

(1) (A)-(I), (B)-(I), (C)-(IV), (D)-(11)
(2)  (A)-D), (B)-(D), (C)-(D), (D)-(IV)
(3 (A}, (B)-(IV), (C)-(D), (I-(11)
(4)  (A)-ID), (B)-(I), (C)-(ID), (D)-(IV)

Options :

920906107169. 1
920906107170. 2
920906107171. 3
920906107172. 4

Question Number : 93 Question Id : 92090627121 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



il | & |1y gl 1| 671 e sty

Gil-| gdt -1
(A) SHAMHS WM () 19 diciersd BRI & ¥4 § 9F 91T §
3R 39 U f&ar o1 9dar gl
(8) UISR3MTA ay A diciesd IR Y80 teny fafoea 3
(PROM) UG JUBI
(€ THSISHDD) () AR S ¥ §91 8Ia1 © 981 Ud® 9d Uh
FURTeR 3R U TifoRex s ST 81
(D) TfeH W (v) 98 31 &l 99 dF &1U I&d @ d a9
AR o &1 9l ueE &1 91l 81

+ra feu o fasedi @ 9 9! TR &1 984 Fifog:

(1) (Q)-ID, (B)-D), (C)-(IV), (D)-(II)
2)  (A)-(ID), (B)-(ID), (C)-(I), (D)-(IV)
(3)  (L)-(ID), (B)-@V), (C)-(D), (D)-(II)
(4) (AL, (B)-(D), (C)-(1I), (D)-(IV)

Options :

920906107169. 1
920906107170. 2
920906107171. 3
920906107172. 4

Question Number : 94 Question Id : 92090627122 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



If a, b, e, d are in Harmonie progression then
(A) a+d>b+c

(B) a+c=b+d

(C) ad>be

D) a"+c">2"

(E) a+d<b+c

Choose the correct answer from the options given below :

(1) (A), (C) and (E) only (2) (A), (B) and (C) only
(3) (A), (C) and (D) only (4) (C), (D) and (E) only
Options :

920906107173. 1
920906107174. 2
920906107175. 3
920906107176. 4

Question Number : 94 Question Id : 92090627122 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



afe a, b, e, d BIHD it (Harmonie progression) H % Gl
(A) a+d>b+c

(B) a+ec=b+d

(C) ad=be

(D) a"+ec">2h"

(E) a+d<b+c

2 fdu Tt fasedi @ 9 9 IR &1 99 DI ;

(1) ddA,CE

(2) HddA,B,C

(3) ddACD

(4) &HIAC, D, E
Options :

920906107173. 1
920906107174. 2
920906107175. 3
920906107176. 4

Question Number : 95 Question Id : 92090627123 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One is labelled as Assertion (A) and the other is

labelled as Reason (R):

Assertion (A) :  Sum of n terms of series 17 +3* +5% + .. to n terms is %(4::2 = 1}.

Reasons (R) : Sum of the squares of first n natural numbers 12,23,32, n® is

nln+1)(2n +1)
i

In the light of the above Statements, choose the correct answer from the options given

below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3 (A) is true but (R) is falze

(4) (A) 1s false but (R) is true

Options :

920906107177. 1
920906107178. 2
920906107179. 3
920906107180. 4

Question Number : 95 Question Id : 92090627123 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



41 & Fy= 3T MU §: U@ AUSHUF (Assertion A) & ¥U T fifgd € o ¥R IqS BRI
(Reason R}%FW ff;

AMUDYT A - 4TGal 12 +3% +5% +... & n UG BN %(-1113—1)%|

HRUIR - Ugdl n UId 9@ 12, 22, 32 2 & @t 1 4 ”[””33{2”*” 2l

JURIdd FYF & 3Mdld H, g AU e ol 7 9 99 Iugad IR &1 994 Hifog

(1)
(2)
(3)
(4)

A 3R REIFT el 8 3R R, A B! Wl AT §

A 3R RG] Ual &, Al R, A DI el SURST 7ol &
ATE 8 AfF TR U ISR

A e eI € AfFT R AE 7

Options :

920906107177. 1
920906107178. 2
920906107179. 3
920906107180. 4

Question Number : 96 Question Id : 92090627124 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One is labelled as Assertion (A) and the other is

labelled as Reason (R) :

Assertion (A):  cos(x”), is a periodic function.

Reasons (R):  If f(x) is periodic function with periods T and if a.be R such that

a >0 then (ax +b) is periodic with period T'/a.

In the light of the above Statements, choose the correct answer from the options given

below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3) (A) 15 true but (R) 1s false

(1) (A) is false but (R) is true

Options :

920906107181. 1
920906107182. 2
920906107183. 3
920906107184. 4

Question Number : 96 Question Id : 92090627124 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



i € U QU U §: TS AHUBYUA (Assertion A) & U H fif@d § I T IHS BRUI
(Reason R}%F‘J ff;

AMPYTA - cos(x?) U 3Gd Ba gl

BRUIR: gfe f(x) M@l T 3R abeR & Y UH G Bad ¢ o [ a0 @
f(ax +b) 3@ T/a & 1Y 3T B

IURIdd FYF & 3Meld H, g AU e ol 7 9 99 Iugad IR &1 994 Sifoy

(1)  ASMRRIHIHEl € 3R R A B! el 4TS &
(2) ASIRRIHIHEl €, AfdH R, A BT Tl AT T8l &
3 AUEIE AFIRUE A8
(4 AUEEIE AlFPTREEE
Options :
920906107181. 1
920906107182. 2

920906107183. 3
920906107184. 4

Question Number : 97 Question Id : 92090627125 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I:  The sum of the series 2{7" L e Nl J’ s lng‘,[—)

Statement Il : The value of ¢ always lies between 2 and 3.

In the light of the above Statements, choose the most appropriate answer from the

options given helow :

(1) Both Statement I and Statement Il are true
(2) Both Statement [ and Statement 11 are false
(3) Statement 1 is true but statement 11 is false

(1) Statement 1 is false but statement I1 is true
Options :
920906107185. 1
920906107186. 2



920906107187. 3
920906107188. 4

Question Number : 97 Question Id : 92090627125 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R FyaRuMUE:

BYT | - gl 2{ T +3LT0 5T+ | BIART 1-.’.‘-&(%) gl
YT || - e BT HF UM 2 3R 3 & &g H |16l

IR HYH & e H g feu e fasedi # 9 9gl I &1 99 Hifolg

(1) HYIRNSAI g 8

2 BYFI SR IS 3Ed 8§

(3) YT HAE, Al HY 11 A E
(4) HYF| HTH §, WAlhT YA T B

Options :

920906107185. 1
920906107186. 2
920906107187. 3
920906107188. 4

Question Number : 98 Question Id : 92090627126 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In a memory mapped /0 system, which of the following will not be there?

(1) LDA (2) IN
(3) ADD (4) OUT
Options :

920906107189. 1
920906107190. 2
920906107191. 3
920906107192. 4

Question Number : 98 Question Id : 92090627126 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

AUR-AE 1o Ren # g o 9 @1 98 e

(1) LDA 2 IN
(3) ADD (4) OUT
Options :

920906107189. 1
920906107190. 2
920906107191. 3
920906107192. 4

Question Number : 99 Question Id : 92090627127 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The mean deviation from the mean of the AP : q.a+d.a+2d. ..., a+2nd . is

nln + l}

1 1 2 d
1) n(ns1d @ S
(3) nfn+1 }d “ nln - ”d
: 2n 2n+1
Options :

920906107193. 1
920906107194. 2
920906107195. 3
920906107196. 4

Question Number : 99 Question Id : 92090627127 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AP & A8 ¥ 309 fa=ge T - aa+d.a+2d, ...,a+2nd %—

(1)  alp+1d ) ”5}:: :l”d.
n{n+1) _ nin-1)
) 2n ¢ ) 2n+1 d

Options :



920906107193. 1
920906107194. 2
920906107195. 3
920906107196. 4

Question Number : 100 Question Id : 92090627128 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let F :[0, 7] R be defined as f(x)=sinx , then maximum value of f(x) exists at

4 : T
(1) 5 (2) 5
9 e )
(3) = (4) -

Options :

920906107197. 1
920906107198. 2
920906107199. 3
920906107200. 4

Question Number : 100 Question Id : 92090627128 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HH ST F:[0, 7] R @ £ (x)=sinx R GRHIRT {61 @18, @ £ (x) B SHf¥SIH 74
A= | ¥ fog wgrm

3 T

(1) = (2) =

T T

(3) = (4) 7
Options :

920906107197. 1
920906107198. 2
920906107199. 3
920906107200. 4



